. Solve the following linear inequality 42 — 1 > 3.

. Solve the following linear inequality 2(3x — 3) > —5(4xz).
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3. Below is a graph of the system of linear equations {

inequality « + 2 > 2z — 1.
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4. Below is a graph of the system of linear equations {

inequality —1 < x — 2.
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. Solve the following linear inequality —bx + 5 < 4x + 3.
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. Solve the following linear inequality 2(5z + 3) < 0(x — 2).

IN
alo

. X

& 8
IN v
| |
[S[SY g‘w

8
IV
\
[Sit[e

5
I Vv
atl= alo

|
Tt

8
A
SV



7. Solve the following linear inequality —x — 4 > —5x + 1.

8. Solve the following linear inequality —5 > bx — 4.

A.x<—%
B.x<—%
C.x<-2
D.%>x

E —%>x
F.x<—%
G.%O>SU



